EARAROBREBRT —5 XN—ZXBISH—F

20224118306 (k) 19mEMHSH

M C3 USHR3mkLE BN
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
TS o4 | EEM 1:21.4 2-2-2-2 |40.4| - 1 519 | KEAER (Tl
1 6| TIOJ—ILR 56.0 [ ) |EEEE ()
RIZABIWN—T B:TLAY MEZI Y R
o o FIRIE : -4-3- - TRE¥e (EH)
2 3| N=ILRTILL b 54.0 1(’32/14')6 33403 2 3_382) BT
R:ZAEIWN=T B:ZR*55 IS
= \ = KFEE 8 :21. -7-5- . - ENERS (%)
31111 ST7—LVYIT« 5 ?,4_0 1(12/12)7 754 | N2 ¢ (4:‘38) /J\ffg%i(
R:IVUSTyik BRIVNFAST LT B BE—
B3 | ERAHE 1:22.0 1-1-1-1 | 411 = 5 | 38 |SEITH (FER)
417|7| boo42 $52.0 1172 (o) |FTHD
R:0394F &:7IRIILE A DS
= Ss TIMGEL : -8-8- - A (FkR)
55 5| FIWTIVaFA b 5 gt 1.(212).2 8-8-8-5 | 40.5 4 (4+925) R
R:g—MLRDIL B:7IbYT70-5 #HE77—LA
= ~ o3 | EZHEEK 1:22.3 7-6-7-8 | 40.8| — 6 | 510 |BEEE (EH
6(7|8|2NWTAXY 5.0 %) Gy | EE
R:aAN/VvF— B:IVTF4IZa—X Pz ]
3= Y ft 3 | PHELT 1:22.7 3-3-4-5 |41.5| - 3 M5 | FER (k)
7(8|10|N¥PTA—=N 5.0 @172 o |HEE
RRFPYVISvI BNV HOKES
s = s 5 | HPFE 1:22.9 5-5-6-7 | 41.4| — 9 451 | FAEF— (FEk)
8l8l9|E—T 1R 54.0 ) @) | BHER
RIRIIATAvIIFUT7— BIIUEIRYF e
—_H_ 10 | BE®T 1:22.9 10-10-9-8 | 40.9| — 8 505 | WOI&E= (k)
oy 4| L—Y 5.0 &Y ) | EEES
ReNA40O B:RNZHVISOY HEFEERSS
— » e =i — : -9-10- - WICEE (FkR)
N ) P2k 4 3 5 1.(223).2 9-9-10-10 | 41.3 10 ?Z; woes
RIAYYTSvya B:VIHNE2 H—RSN—TRIY R
@ 11— —BERIEI
13—7F— 7,6,10,3,9,1,8,5,2,4
20—7+— 7,6,10,3,9,8,1,5,2,4
30—7F— 7,6,3,10,1,9,8,5,4,2
40—7F— 7.6,3,1,(5,10),9, (4,8) ,2
o ILRE
BB 6 260 | [ DA K 3-6 270M & 3-6 610 3ER 1-3-6 1,860/
B B 6 130 1-6 52044 o 18 3-6 550 3Es 6-3-1 6,100
3 170/ 1-3 990M oS- 1 6-3 1,020
1 3004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




